

LINEAR MAPPINGS, QUADRATIC MAPPINGS AND CUBIC MAPPINGS IN NORMED SPACES

CHUN-GIL PARK AND HEE-JUNG WEE

ABSTRACT. It is shown that every almost linear mapping $h : X \rightarrow Y$ of a complex normed space X to a complex normed space Y is a linear mapping when $h(rx) = rh(x)$ ($r > 0, r \neq 1$) holds for all $x \in X$, that every almost quadratic mapping $h : X \rightarrow Y$ of a complex normed space X to a complex normed space Y is a quadratic mapping when $h(rx) = r^2h(x)$ ($r > 0, r \neq 1$) holds for all $x \in X$, and that every almost cubic mapping $h : X \rightarrow Y$ of a complex normed space X to a complex normed space Y is a cubic mapping when $h(rx) = r^3h(x)$ ($r > 0, r \neq 1$) holds for all $x \in X$.

1. INTRODUCTION

Let X and Y be Banach spaces with norms $\|\cdot\|$ and $\|\cdot\|$, respectively. Consider $f : X \rightarrow Y$ to be a mapping such that $f(tx)$ is continuous in $t \in \mathbb{R}$ for each fixed $x \in X$. Assume that there exist constants $\theta \geq 0$ and $p \in [0, 1)$ such that

$$\|f(x+y) - f(x) - f(y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $x, y \in X$. Rassias [10] showed that there exists a unique \mathbb{R} -linear mapping $T : X \rightarrow Y$ such that

$$\|f(x) - T(x)\| \leq \frac{2\theta}{2-2^p} \|x\|^p$$

for all $x \in X$. Găvruta [2] generalized the Rassias' result: Let G be an abelian group and Y a Banach space. Denote by $\varphi : G \times G \rightarrow [0, \infty)$ a function such that

$$\tilde{\varphi}(x, y) = \sum_{j=0}^{\infty} 2^{-j} \varphi(2^j x, 2^j y) < \infty$$

Received by the editors April 28, 2003.

2000 *Mathematics Subject Classification.* 16Y30.

Key words and phrases. linear mapping, quadratic mapping, cubic mapping, stability.

This work was supported by Korea Research Foundation Grant KRF-2002-041-C00014.

for all $x, y \in G$. Suppose that $f : G \rightarrow Y$ is a mapping satisfying

$$\|f(x+y) - f(x) - f(y)\| \leq \varphi(x, y)$$

for all $x, y \in G$. Then there exists a unique additive mapping $T : G \rightarrow Y$ such that

$$\|f(x) - T(x)\| \leq \frac{1}{2}\tilde{\varphi}(x, x)$$

for all $x \in G$. Park [9] applied the Găvruta's result to linear functional equations in Banach modules over a C^* -algebra.

A mapping $f : X \rightarrow Y$ is called \mathbb{C} -quadratic if f satisfies the functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y) \quad \text{and} \quad f(\lambda x) = \lambda^2 f(x)$$

for all $x, y \in X$. Skof [11] was the first author to treat the Hyers-Ulam stability of a quadratic functional equation. Czerwik [1] generalized the Skof's result.

A mapping $f : X \rightarrow Y$ is called \mathbb{C} -cubic if f satisfies the functional equation

$$f(x+2y) + f(x-2y) + 6f(x) = 4f(x+y) + 4f(x-y) \quad \text{and} \quad f(\lambda x) = \lambda^3 f(x)$$

for all $x, y \in X$. Jun & Kim [4] were the authors to treat the Hyers-Ulam stability of a cubic functional equation.

The stability problems of functional equations have been investigated by several authors [3, 5, 6, 7].

Throughout this paper, let X and Y be complex normed spaces with norms $\|\cdot\|$ and $\|\cdot\|$, respectively, and r ($r \neq 1$) a positive real number.

Using the stability methods, we prove that every almost linear mapping $h : X \rightarrow Y$ is a linear mapping when $h(rx) = rh(x)$ holds for all $x \in X$, that every almost quadratic mapping $h : X \rightarrow Y$ is a quadratic mapping when $h(rx) = r^2h(x)$ holds for all $x \in X$, and that every almost cubic mapping $h : X \rightarrow Y$ is a cubic mapping when $h(rx) = r^3h(x)$ holds for all $x \in X$.

2. LINEAR MAPPINGS, QUADRATIC MAPPINGS, AND CUBIC MAPPINGS IN COMPLEX NORMED SPACES

We are going to investigate linear mappings in complex normed spaces.

Theorem 1. *Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = rh(x)$ for all $x \in X$ for which there exists a function $\varphi : X^2 \rightarrow [0, \infty)$ such that*

$$(i) \sum_{j=0}^{\infty} \frac{1}{r^j} \varphi(r^j x, r^j y) < \infty \quad \text{for } x, y \in X, \text{ and}$$

(ii) $\|h(\mu x + \mu y) - \mu h(x) - \mu h(y)\| \leq \varphi(x, y)$ for all $\mu \in \mathbb{T}^1 := \{\lambda \in \mathbb{C} \mid |\lambda| = 1\}$ and all $x, y \in X$.

Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -linear mapping.

Proof. Since $h(0) = rh(0)$, $h(0) = 0$. Put $\mu = 1 \in \mathbb{T}^1$ in (ii). By (ii) and the assumption that $h(rx) = rh(x)$ for all $x \in X$,

$$\|h(x + y) - h(x) - h(y)\| = \frac{1}{r^n} \|h(r^n x + r^n y) - h(r^n x) - h(r^n y)\| \leq \frac{1}{r^n} \varphi(r^n x, r^n y),$$

which tends to zero as $n \rightarrow \infty$ by (i). So

$$h(x + y) = h(x) + h(y) \text{ for all } x, y \in X.$$

Put $y = 0$ in (ii). By (ii) and the assumption that $h(rx) = rh(x)$ for all $x \in X$,

$$\|h(\mu x) - \mu h(x)\| = \frac{1}{r^n} \|h(r^n \mu x) - \mu h(r^n x)\| \leq \frac{1}{r^n} \varphi(r^n x, 0),$$

which tends to zero as $n \rightarrow \infty$ by (i). So

$$(1) \quad h(\mu x) = \mu h(x) \text{ for all } \mu \in \mathbb{T}^1 \text{ and all } x \in X.$$

Now let $\lambda \in \mathbb{C}$ ($\lambda \neq 0$) and M an integer greater than $4|\lambda|$. Then

$$\left| \frac{\lambda}{M} \right| < \frac{1}{4} < 1 - \frac{2}{3} = \frac{1}{3}.$$

By Kadison & Pedersen [8, Theorem 1], there exist three elements $\mu_1, \mu_2, \mu_3 \in \mathbb{T}^1$ such that $3\frac{\lambda}{M} = \mu_1 + \mu_2 + \mu_3$. So by (1)

$$\begin{aligned} h(\lambda x) &= h\left(\frac{M}{3} \cdot 3\frac{\lambda}{M} x\right) \\ &= M \cdot h\left(\frac{1}{3} \cdot 3\frac{\lambda}{M} x\right) \\ &= \frac{M}{3} h\left(3\frac{\lambda}{M} x\right) \\ &= \frac{M}{3} h(\mu_1 x + \mu_2 x + \mu_3 x) \\ &= \frac{M}{3} (h(\mu_1 x) + h(\mu_2 x) + h(\mu_3 x)) \\ &= \frac{M}{3} (\mu_1 + \mu_2 + \mu_3) h(x) \\ &= \frac{M}{3} \cdot 3\frac{\lambda}{M} h(x) \\ &= \lambda h(x) \end{aligned}$$

for all $x \in X$. Hence

$$h(\zeta x + \eta y) = h(\zeta x) + h(\eta y) = \zeta h(x) + \eta h(y)$$

for all $\zeta, \eta \in \mathbb{C}(\zeta, \eta \neq 0)$ and all $x, y \in X$. And $h(0x) = 0 = 0h(x)$ for all $x \in X$. So the mapping $h : X \rightarrow Y$ is a \mathbb{C} -linear mapping, as desired. \square

Corollary 2. *Let $r > 1$. Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = rh(x)$ for all $x \in X$ for which there exist constants $\theta \geq 0$ and $p \in [0, 1)$ such that*

$$\|h(\mu x + \mu y) - \mu h(x) - \mu h(y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $\mu \in \mathbb{T}^1$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -linear mapping.

Proof. Define $\varphi(x, y) = \theta(\|x\|^p + \|y\|^p)$, and apply Theorem 1. \square

Corollary 3. *Let $0 < r < 1$. Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = rh(x)$ for all $x \in X$ for which there exist constants $\theta \geq 0$ and $p \in (1, \infty)$ such that*

$$\|h(\mu x + \mu y) - \mu h(x) - \mu h(y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $\mu \in \mathbb{T}^1$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -linear mapping.

Proof. Define $\varphi(x, y) = \theta(\|x\|^p + \|y\|^p)$, and apply Theorem 1. \square

Theorem 4. *Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = rh(x)$ for all $x \in X$ for which there exists a function $\varphi : X^2 \rightarrow [0, \infty)$ satisfying (i) such that*

$$(iii) \|h(\mu x + \mu y) - \mu h(x) - \mu h(y)\| \leq \varphi(x, y)$$

for $\mu = 1, i$, and all $x, y \in X$. If $h(tx)$ is continuous in $t \in \mathbb{R}$ for each fixed $x \in X$, then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -linear mapping.

Proof. Put $\mu = 1$ in (iii). By the same reasoning as the proof of Theorem 1, the mapping $h : X \rightarrow Y$ is additive. By the same reasoning as the proof of Rassias [10, Theorem], the additive mapping $h : X \rightarrow Y$ is \mathbb{R} -linear.

Put $\mu = i$ in (iii). By the same method as the proof of Theorem 1, one can obtain that

$$h(ix) = ih(x)$$

for all $x \in X$. For each element $\lambda \in \mathbb{C}$, $\lambda = s + it$, where $s, t \in \mathbb{R}$. So

$$h(\lambda x) = h(sx + itx) = sh(x) + th(ix) = sh(x) + ith(x) = (s + it)h(x) = \lambda h(x)$$

for all $\lambda \in \mathbb{C}$ and all $x \in X$. So

$$h(\zeta x + \eta y) = h(\zeta x) + h(\eta y) = \zeta h(x) + \eta h(y)$$

for all $\zeta, \eta \in \mathbb{C}$, and all $x, y \in X$. Hence the mapping $h : X \rightarrow Y$ is \mathbb{C} -linear, as desired. \square

Now we are going to investigate quadratic mappings in complex normed spaces.

Theorem 5. *Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = r^2h(x)$ for all $x \in X$ for which there exists a function $\varphi : X^2 \rightarrow [0, \infty)$ such that*

- (iv) $\sum_{j=0}^{\infty} \frac{1}{r^{2j}} \varphi(r^j x, r^j y) < \infty,$
- (v) $\|h(\lambda x + \lambda y) + h(\lambda x - \lambda y) - 2\lambda^2 h(x) - 2\lambda^2 h(y)\| \leq \varphi(x, y)$

for all $\lambda \in \mathbb{C}$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -quadratic mapping.

Proof. Since $h(0) = r^2h(0)$, $h(0) = 0$. Put $\lambda = 1$ in (v). By (v) and the assumption that $h(rx) = r^2h(x)$ for all $x \in X$,

$$\begin{aligned} & \|h(x + y) + h(x - y) - 2h(x) - 2h(y)\| \\ &= \frac{1}{r^{2n}} \|h(r^n x + r^n y) + h(r^n x - r^n y) - 2h(r^n x) - 2h(r^n y)\| \leq \frac{1}{r^{2n}} \varphi(r^n x, r^n y), \end{aligned}$$

which tends to zero as $n \rightarrow \infty$ by (iv). So

$$h(x + y) + h(x - y) = 2h(x) + 2h(y)$$

for all $x, y \in X$.

Put $y = 0$ in (v). By (v) and the assumption that $h(rx) = r^2h(x)$ for all $x \in X$,

$$\|2h(\lambda x) - 2\lambda^2 h(x)\| = \frac{1}{r^{2n}} \|2h(r^n \lambda x) - 2\lambda^2 h(r^n x)\| \leq \frac{1}{r^{2n}} \varphi(r^n x, 0),$$

which tends to zero as $n \rightarrow \infty$ by (iv). So

$$h(\lambda x) = \lambda^2 h(x)$$

for all $\lambda \in \mathbb{C}$ and all $x \in X$. So the mapping $h : X \rightarrow Y$ is a \mathbb{C} -quadratic mapping, as desired. \square

Corollary 6. *Let $r > 1$. Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = r^2h(x)$ for all $x \in X$ for which there exist constants $\theta \geq 0$ and $p \in [0, 2)$ such that*

$$\|h(\lambda x + \lambda y) + h(\lambda x - \lambda y) - 2\lambda^2 h(x) - 2\lambda^2 h(y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $\lambda \in \mathbb{C}$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -quadratic mapping.

Proof. Define $\varphi(x, y) = \theta(\|x\|^p + \|y\|^p)$, and apply Theorem 5. \square

Corollary 7. *Let $0 < r < 1$. Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = r^2h(x)$ for all $x \in X$ for which there exist constants $\theta \geq 0$ and $p \in (2, \infty)$ such that*

$$\|h(\lambda x + \lambda y) + h(\lambda x - \lambda y) - 2\lambda^2h(x) - 2\lambda^2h(y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $\lambda \in \mathbb{C}$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -quadratic mapping.

Proof. Define $\varphi(x, y) = \theta(\|x\|^p + \|y\|^p)$, and apply Theorem 5. \square

We are going to investigate cubic mappings in complex normed spaces.

Theorem 8. *Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = r^3h(x)$ for all $x \in X$ for which there exists a function $\varphi : X^2 \rightarrow [0, \infty)$ such that*

- (vi) $\sum_{j=0}^{\infty} \frac{1}{r^{3j}} \varphi(r^j x, r^j y) < \infty$,
 - (vii) $\|h(\lambda x + 2\lambda y) + h(\lambda x - 2\lambda y) + 6h(\lambda x) - 4\lambda^3h(x+y) - 4\lambda^3h(x-y)\| \leq \varphi(x, y)$
- for all $\lambda \in \mathbb{C}$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -cubic mapping.

Proof. Since $h(0) = r^3h(0)$, $h(0) = 0$. Put $\lambda = 1$ in (vii). By (vii) and the assumption that $h(rx) = r^3h(x)$ for all $x \in X$,

$$\begin{aligned} & \|h(x+2y) + h(x-2y) + 6h(x) - 4h(x+y) - 4h(x-y)\| \\ &= \frac{1}{r^{3n}} \|h(r^n x + 2r^n y) + h(r^n x - 2r^n y) + 6h(r^n x) - 4h(r^n x + r^n y) - 4h(r^n x - r^n y)\| \\ &\leq \frac{1}{r^{3n}} \varphi(r^n x, r^n y), \end{aligned}$$

which tends to zero as $n \rightarrow \infty$ by (vi). So

$$h(x+2y) + h(x-2y) + 6h(x) = 4h(x+y) + 4h(x-y)$$

for all $x, y \in X$.

Put $y = 0$ in (vii). By (vii) and the assumption that $h(rx) = r^3h(x)$ for all $x \in X$,

$$\|8h(\lambda x) - 8\lambda^3h(x)\| = \frac{1}{r^{3n}} \|8h(r^n \lambda x) - 8\lambda^3h(r^n x)\| \leq \frac{1}{r^{3n}} \varphi(r^n x, 0),$$

which tends to zero as $n \rightarrow \infty$ by (vi). So

$$h(\lambda x) = \lambda^3h(x)$$

for all $\mu \in \mathbb{C}$ and all $x \in X$. So the mapping $h : X \rightarrow Y$ is a \mathbb{C} -cubic mapping, as desired. \square

Corollary 9. *Let $r > 1$. Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = r^3h(x)$ for all $x \in X$ for which there exist constants $\theta \geq 0$ and $p \in [0, 3)$ such that*

$$\|h(\lambda x + 2\lambda y) + h(\lambda x - 2\lambda y) + 6h(\lambda x) - 4\lambda^3h(x + y) - 4\lambda^3h(x - y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $\lambda \in \mathbb{C}$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -cubic mapping.

Proof. Define $\varphi(x, y) = \theta(\|x\|^p + \|y\|^p)$, and apply Theorem 8. □

Corollary 10. *Let $0 < r < 1$. Let $h : X \rightarrow Y$ be a mapping satisfying $h(rx) = r^3h(x)$ for all $x \in X$ for which there exist constants $\theta \geq 0$ and $p \in (3, \infty)$ such that*

$$\|h(\lambda x + 2\lambda y) + h(\lambda x - 2\lambda y) + 6h(\lambda x) - 4\lambda^3h(x + y) - 4\lambda^3h(x - y)\| \leq \theta(\|x\|^p + \|y\|^p)$$

for all $\lambda \in \mathbb{C}$ and all $x, y \in X$. Then the mapping $h : X \rightarrow Y$ is a \mathbb{C} -cubic mapping.

Proof. Define $\varphi(x, y) = \theta(\|x\|^p + \|y\|^p)$, and apply Theorem 8. □

REFERENCES

1. St. Czerwik: On the stability of the quadratic mapping in normed spaces. *Abh. Math. Sem. Univ. Hamburg* **62** (1992), 59–64. MR **94e**:39026
2. P. Găvruta: A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings. *J. Math. Anal. Appl.* **184** (1994), no. 3, 431–436. MR **95e**:47089
3. D. H. Hyers, G. Isac & Th. M. Rassias: *Stability of functional equations in several variables*, Progress in Nonlinear Differential Equations and their Applications, 34. Birkhauser Boston, Inc., Boston, MA, 1998. MR **99i**:39035
4. K. W. Jun & H. M. Kim: The generalized Hyers-Ulam-Rassias stability of a cubic functional equation. *J. Math. Anal. Appl.* **274** (2002), no. 2, 867–878. MR **2003j**:39077
5. K. W. Jun & Y. H. Lee: On the Hyers-Ulam-Rassias stability of a Pexiderized quadratic inequality. *Math. Inequal. Appl.* **4** (2001), no. 1, 93–118. MR **2001j**:39040
6. S. M. Jung: *Hyers-Ulam-Rassias stability of functional equations in mathematical analysis*. Hadronic Press, Inc., Palm Harbor, FL, 2001. MR **2003b**:39035
7. Y. S. Jung & K. H. Park: On the stability of the functional equation $f(x + y + xy) = f(x) + f(y) + xf(y) + yf(x)$. *J. Math. Anal. Appl.* **274** (2002), no. 2, 659–666. CMP **1** 936 722
8. R. V. Kadison & G. Pedersen: Means and convex combinations of unitary operators. *Math. Scand.* **57** (1985), no. 2, 249–266. MR **87g**:47078
9. C. Park: On the stability of the linear mapping in Banach modules. *J. Math. Anal. Appl.* **275** (2002), no. 2, 711–720. MR **2003i**:46045
10. Th. M. Rassias: On the stability of the linear mapping in Banach spaces. *Proc. Amer. Math. Soc.* **72** (1978), no. 2, 297–300. MR **80d**:47094

11. F. Skof: Local properties and approximation of operators, *Geometry of Banach spaces and related topics (Italian)* (Milan, 1983). *Rend. Sem. Mat. Fis. Milano* **53** (1983), 113–129. MR **87m**:39009

(C. G. PARK) DEPARTMENT OF MATHEMATICS, CHUNGNAM NATIONAL UNIVERSITY, 220 GUNG-DONG, YUSEONG-GU, DAEJEON 305-764, KOREA
Email address: `cgparkmath.cnu.ac.kr`

(H. J. WEE) DEPARTMENT OF MATHEMATICS, CHUNGNAM NATIONAL UNIVERSITY, 220 GUNG-DONG, YUSEONG-GU, DAEJEON 305-764, KOREA